LEaelA KLoFHC

A I=LHI0IAAZ

19«
HHa 8y
e 19

Agzp 0%

HzoHH 10

IFHYL
SH0IAS
THDoiEt

SFHQAIE SHOIXI

HEZ I

0R

goerlld

SR pigt

Safe Area

v 229 U SA Hol| whe} (ZAEE 1Y A)RE o] BAo|n, FF3d A Atz Ak gvk] w2 [grale] &2 Qe 1S 2
e T3 Aol e (HAMAL ZIE 1L - )T 2 FUTh (AFA AT R A3 3R )
v TR XA HHEALE Bl A4 & gofelal GPS, 7FEANEW Y, CCTV 5-& A Eld A S 3 Yl
v QAL A o] et SR FE P H(EA, JFA S EE 7 AFUTH
SFFFA A o)A ukz 717
g
2
aa | & 9]
3} S =
e bas) 3}z (74 2
2 ] =2l =i H A AA
2‘}7 A]. 76]—(%] %“ -:7-1: 1 ] ] =
< 3} 2
_7}.]
o)
Gl 3¢ 21
=) o ] =
B B WA G A EEL L
& o4 €20 F
30d)) )
i 3417
el 23
“—Lg"?‘ 18 %]—:: 17 . 16 ﬁ%tﬂ‘%}%
(4. 417
60tH) )
gt 39 17
= <l 243
o1 .
3 Ay
17(#8395) (%1, 416 T
50d)) o)


https://www.gwangju.go.kr/index_corona.jsp
https://www.gwangju.go.kr/maskSearch.do
https://www.gwangju.go.kr/programList.do?customId=CORONA_CASE&pageId=www834
https://www.gwangju.go.kr/api/coronamap.jsp
https://www.gwangju.go.kr/index_corona.jsp
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